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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJDQDOLVLV�� ���� SHQJDUXK SHUFHLYHG� EHQHILW�
WHUKDGDS�NHSHUFD\DDQ�EHODQMD�RQOLQH�GL�6KRSHH�� ����SHQJDUXK�HOHFWURQLF�ZRUG�RI�
PRXWK WHUKDGDS�NHSHUFD\DDQ�EHODQMD�RQOLQH�GL�6KRSHH�����SHQJDUXK�SHUFHLYHG�ZHE�
TXDOLW\�WHUKDGDS�NHSHUFD\DDQ�EHODQMD�RQOLQH�GL�6KRSHH������SHQJDUXK�NHSHUFD\DDQ�
WHUKDGDS�VLNDS�NRQVXPHQ�EHUEHODQMD�RQOLQH�GL�6KRSHH� -HQLV�SHQHOLWLDQ�LQL�DGDODK�
SHQHOLWLDQ� NDXVDWLI�� 3HQHOLWLDQ� LQL� GLODNXNDQ� GL� .RWD� 3DGDQJ�� 3RSXODVL� GDODP�
SHQHOLWLDQ� LQL� DGDODK� PDV\DUDNDW� .RWD� 3DGDQJ� \DQJ� VXGDK SHUQDK PHODNXNDQ
NHJLDWDQ EHUEHODQMD RQOLQH GL� 6KRSHH�� 6DPSHO� \DQJ� GLJXQDNDQ� VHEDQ\DN� ����
RUDQJ� GHQJDQ� PHQJJXQDNDQ� WHNQLN� SXUSRVLYH� VDPSOLQJ�� -HQLV� GDWD� GDODP�
SHQHOLWLDQ� LQL� DGDODK� GDWD� SULPHU�� 'DWD� GLNXPSXONDQ� PHODOXL� NXHVLRQHU� GDQ�
GLDQDOLVLV�GHQJDQ�PHQJJXQDNDQ�SURJUDP�6PDUW3/6�YHUVL������+DVLO�SHQHOLWLDQ�LQL�
PHQXQMXNNDQ�EDKZD�� ����3HUFHLYHG�EHQHILW EHUSHQJDUXK�GDQ� VLJQLILNDQ� WHUKDGDS�
NHSHUFD\DDQ� GDODP� SHQHOLWLDQ� LQL�� ���� (OHFWURQLF� ZRUG� RI� PRXWK EHUSHQJDUXK�
SRVLWLI� GDQ� VLJQLILNDQ� WHUKDGDS� NHSHUFD\DDQ�� ��� 3HUFHLYHG� ZHE� TXDOLW\�
EHUSHQJDUXK� SRVLWLI� GDQ� MXJD� VLJQLILNDQ� WHUKDGDS� NHSHUFD\DDQ�� ���� .HSHUFD\DDQ�
EHUSHQJDUXK�SRVLWLI�GDQ�VLJQLILNDQ�WHUKDGDS�VLNDS�EHODQMD�RQOLQH

.DWD�.XQFL��3HUFHLYHG�EHQHILW��HOHFWURQLF�ZRUG�RI�PRXWK� SHUFHLYHG�ZHE�TXDOLW\��
NHSHUFD\DDQ��VLNDS�EHUEHODQMD�RQOLQH�


